daga Cilagat
Ve (£0) Glaie¥) Al S Al s -
Asdia (YA) glaied) dul S Ciladia aae -
(il gise g8 (platial) A S Ciladia de (e g AL a5 e ST -
(e lu EDE) LAY (g -
Aa o (V) DhaadU 4l s il -
s Agling lagladl) 038 T8, i) (g 30
ALY e canl W 8 ALY Aadia o el Al S dadia b6l gas 12 el ]
Ala) 8 e ad) U8 s 4 S8y ) sl 18
J) 3 JS (o Jad Ban) g didy LY ugllaall g ¢ Zliadd da e ALY
AL e alasiad aae g ocile gyl 3 byl ARl 5 ¢ AU (55 Y1 Calall Al aaai
dalidd dalall Al a5 LD daadia) dal ) 8 canl eddlial Al U elila) xie
Go SSLelila) o 5 ¢ Ll 3 GY) pa 83 gusall e 8 sy JLSE ) (S g A
Ly g Als)
rJGa

. L (B) sl (A) o cenl Ay a3 lad) Al e clils) ve
T g () e e JLEAY) Al ge dlila) aie

) s JST IS S Gl BlaY) e JIAN el s ial Jlks
e (C) dagaeall Likay) 1 e

: dagasal) 4aY)

s LAY Gt dagaia dla) Cual g Gl cud o bl Aula) ual 1Y L dlls 8-
Lot ALY Gt Uad s Gl g el cadd ¢ A s Gl 1Y Lo s -
: A sale
Al gl 3ay e S Ao Sl a5 1Y) (ddaia (a JLEAY) Ae gida pall ALiaY) Al
Ui oY) utind ¢ aY) LSS
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Base your answers on what you studied in | sLo¥13500 -2 Cew)s Lagsgis -2
3 . | s .
Biology: P AGY) W He o

1- Choose only one question (A) or (B) and | @ (<) of (1) oatdadt dai i1 -

write its scientific term. rle JIAT elatt allaaelt IS
A- A small bone that can rotate around fixed | i) 48 po &y detae (1)
ulna. . el 5 J g A 0

B- The site of a attachment between terminal | %5k Gle 411 Jlal! Olse (2)

I . -3 - -3 - R - .
branches of nerve fibres and muscle | “8kd! lawll dcuac 2oL
fiberes. ‘ cAdinaY | A8 Y AS pomt

2- Choose only one question (A) or (B) and | (@) 9l (1) ot 3—adt iy 5 -

write: . 1 43 dguadiall Lo ;S @d
What is meant by it: - gl ditaaialt (i)
A- Complements L (o)

B- lysis.
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3- Choose only one question (A) or (B) | (@) 91 (1) &3 Ao yis) =¥
and mention its site and its function ' 1 Aiads g9 dilSe COST
pomtan 93 s (1)

A- Endospermic tissue.
el ‘:,;‘n OB ELE (o)

B- Conjugation tube in spirogyra algae.
e g it

4- Choose the right answer only from the | :&aza dooalt Aol N1 ;i) - ¢
following | onsi el medazt! alua ¥ (yesH
The polar bodies are fomed during oogenesis | oo pe b s Y1 5] 53 Sl gl
in female of human being in the phase of: ; ;

@ duplication . REVSBRT @
@ Maturation. ' guaid| @
(©  Growth. ' satt
(@  Metamorphosis. BEPRINCI-R €)
5- Give reasons for: , b let Yo -0
The numbers of T - suppressor (Ts) | ol AL L) slasl 21233
increases after elimination of pathogens. | Ol e sl ey Ts
Y




6- What would happen in the following s e Codony 130 -1

case: Gl LS 3143 (e iy gut Lo !
- disappearance of nucleolus from the nucleus 31y
of Euokaryotics.

7- The figure below show a T.S in the ovary | & e ¢lad i g9 yglovadt JSad) -V
of a human female, look at it and answer:

First : What is the importance of the
structure number(1)

1 OO GBI pae B

zg‘e les h.bqni @ Ayl
Second : whathappens ifthe structure number (1) p8) S A Reealle
(2) 1s degenerated before the end of | pdy ceS 531 jads 3 Gasw ke 1Ll

the third month of pregnancy. Jad (o B gl dulgs b (Y)

3)
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8- Compare between :

(FSH) and (LH) harmones according to | JS »3U e (e FSH« LH (50
the effect of each on a human male.

1O Q1B -A

OLud ¥ 583 e Lagio
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9- Two parts of DNA molecules equal in dal p (30 (38 3> gy @3 -9
lqngth were put iq two test tubes and a 2 Jglall 4 sluie DNA
different enzyme is added to each of them

Lo M el Spa G g
E, and E, and the result was as shown. 2= HRBOA O

b o Login JS | el
9o LeS Ezz B, alises @300
e L e g0
E C_E
N~ e

l l

Two single Single parts of DNA its, length

strands of DNA is about (5) nucleotides
DNA s o3aiio plias DNA (o35 500 c15ai
SlaislS g 0 Mg Lol sho
mention the name of E and E, with J et | @333 uul HS30 -

explanation il o W JS 8 B¢
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10- Choose only one question (A) or (B)
and Answer:

Give reason:

A- occurrence of painful muscle spasm to
someone.

B- The motor unit is the functional unit of the
skeletal muscle.

(@) 91 (1) (o1 auad ) )yt =\ o

1

T

Oe 3l liae i cgas (1)
.Lﬁuaén.m..\a.”

B WS ot | B 93 lial (@)
Alaall Lo ds gl Gas o |
LAt

11- Choose the right answer only from the
following

the activated (T - helper) secretes different
types of protiens called: ...........

cytokines.
interleukines.

perforin.

®O0E

lymphokines.

Jadd dovoual | Aala ¥ Sl -\
Ik Las

Boie Lucal | 5L LS A 933

O 1901 Bue 1,0k Ty aladiss

...... QU.:S}).)
stsgeatt- (D
sssny (@
(292 el @
drssaait Q)
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12- Explain the following r by Lo g -\ Y

- The human male will be infertile if the two | Joai 31 paatly OLud¥! S5 Clay
testes fail to descend down into the scrotum. | .(adcas s (yo (plcasad zg p5

13- What would happens in case of: i Godony 130e -\ Y
absence of positive charged alkyle A gl | JSIY 1 A posne bl
groups (R) from grgnine and_ lysine iy ¥ s ¥ Cpinad! (ye
amino acids of histone proteins. e g iyl Cpscasly

14- Write the scientific term for the ol J1u elat pllaaelt HS31 -1 ¢
following statement.

rAGY 3)\.9."
A hormgne which stlmulates the Taglastl) LI IR Saons (50
maturation of lymphoid stem cells and

., . . T astd LM I de it
its differentiation to different types of ) o 5"J=4'~“° 3
T- cells. ~Aalisot! lge gl 1 Lajaledy
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15- Mention two examples of living

organisms in which their somatic cells

are haploid (N) chromosome.

095 A OLSIST (pdlie ,S31- Y0
sl dodcus tilal M s

(0) Ahall| 28 gamal!

16- Choose only one question (A) or (B)

and compare between:

A - Corck formation and formotion of
tylosis.

B - Immune cellular structures and plant
breeding.

103 () 9f (1) Vgt i 331 11

1ol Oyl

O3 gLad (ps gST g (yllatf (ST

A glat! Ao Lot oS 1) -0
~ASbad A iy

wjailleig o




17- Show by a labeled drawing only the LS po dadd qu thmiag -\ Y

structure of mRNA. MRNA g3 oS50l
18- Mention the site and the function of: LT Aads 99 OlSe ,S31 VA
Nerve secreting cells. 5 pael dTmaTi
oLsat Site aa s e function

19- Choose only one question (A) or (B) | (<) of (i) o 13udt i it 214

and write its scientific term. e JIAN alal) llasaalf CIS1 @3
A- The total of all the genes and therefore of JS ALy Sl | JS g (1)
all DNA in any one of the body cell. AT 3 5392 el DNA

B- Change in the chemical structure of the gene. | .(uolt il caS 51 3 i ()

wwyjailledg o



20- Choose only one question (A) or (B)
and clarify its role:

A- Tendrils in pea plants.

B- Calcium 1ons during muscle contraction.

(@) 91 (1) Cot 13l t i i) =Yoo
s Aliad a9 @

P31 (-3 94 (PR (T ¢)

lant| (ol Y1 b agud IS Sl 4o ()

21- Choose only one question (A) or (B)
and Answer it:

Give reasons:

A- Reproduction by sporogony is the best
form of asexual reproduction.

B- Regeneration in living organisms takes
place by variable ratios.

Vo

1@ (@) o (1) ot padt i 250 Y

Al et e

29 Juadl ga @ty Sl (1)
- i ST 31

AT OLSIST B suamid s (o)
A3 glie Gl yuis

wjailleig o



22- What is the scientific base of tissue | aciyjd olall Lulu¥l g2 La- YY

culture? § A

23- Choose the right answer only from the | a3s dsvowall A3l W1 S - YV
followings: colilles

- From the natural barrier which represent PP | el S gt g

the first line of defense is...... it [ L1 S J¥1 Bl das

@ Histamine. Oyl @
@ Tears. £l @
@ interleukins. LS 9.8 Y @
(@  chemokines. cusyest ()

24- What is the importance of DNA | jaesdl (pmgi dical Lo -Y¢

hybridization? SDNA 55311

\R
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25- The following is the sequence of
nitrogenous bases on one strand of DNA

First:

Write the sequence of nucleotides on mRNA
transcribed from this strand.

Second:

How many amino acids in a polypeptide chain
translated from this strand.

e 3 Hgf ‘:,_TD.N &1\:&11-\'0
anl le g gyl e 52l
.DNA £ oy i

e Sl 9.8 it anlid CCS) ::x;t
oo pouiedl MRNA day s
Jdalasli ol
Aie Wl yolea W sue sas :Lals
Il e Adw 2

L3l piew

26- Show by a labeled drawing only the
structure of a lumbar vertebra in vertebral
column of man.

LDSHMM)JL\G@_g- A\
deolae 5,40 CuS )5 Lbiled!
DL b Ailad

\Y
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27- The figure below: T YOy WYV { g W (A {0 2

Shows the concentration of antibodies in the | -2 sslael pluws¥r 38,5
body fluids .

Look at it and answer.
First :

What is the type of cells responsible for
primary immune response and that of

| @ e 331 and | S g

1o Les
e W gtuall LMt £a5 La ¥y
Tat oW dueliad! Aol

secondary immune response? Oe A gluadl LRI 45 Lay

Second: 293l Ao Lo Auliw !

What is the time taken in each case? JS A8 i sl et Le Loty
flegin

first Second
infection infection

Concentration of antibodies in the body fluids

Y

wjailleig o



28- Choose only one question (A) or (B) | :@3 (<) ol (1) o oaudt dani it - YA
then answer it.

i
Give reason for: Wsi B 5 el 31510 aluadt (1)
A-The generative nucleus in pollen tube Ly gice platt

divides by mitosis. IS Bt L2115 e ()
B- The apple fruit is a false fruit.

29- Choose the right answer only from the | dais Asvouall 2ala N1 i) - Y4
following. o Les

The blood vessels dilate to the maximum FES PR P WL TE SO
limit at the area of injury due to secretion S 31521 M iy 7 g
of large quantities of.....

.83l (ye

@ Histamines. LRt gt @

(®  Chemokines. ctssesti ()

@ Perforin. o388 el @

(d  Cytokines. EEWS ©)
V¢
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30- What would happens in case of:

z..\.lc‘in.\aeﬂl.» =Y.
Sllaod! A palccuod! Ja.)!j):t g\.j.é

Absence of transverse links from myosin
filaments in myofbrils.

31- What are the results of: 1 Al A pied| E LS (2 Lo - ¥
The endospermic tissue is consumed during | ses sLah p oo 9ot ¥ g &3 Mgl
the development of embryo.

280 (s

32- Write the scientific term for role JIA elal) mllamal| COS) Y'Y

- A protien formed from the cells infected | wlaed! amud™I LiMS dniis (puig m
by viruses.

Ol g peatly

\0
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33- What would happens if:

There 1s unbalance between sex hormones
secreted from the adrenal cortex and sex

hormones secreted from gonads.

34- Choose only one question (A) or (B)

and answer it.

- Compare between:

A- B-lymphocytetes and natural killer cells

(N.K) according to their function

B- Antigens and immune receptors (according

to their position)

113) Gty 13Le ¥

A [ PO [P FYRO TR TEQUNN
IS g g g i pLSH B8 it L) i
Gl | 1) a0 Apasind |

1@ (@) 9f (1) o 15t s § y250 - Y8
138 JS (2 918
AGLd ) d glaadd) L SAST! -
(NK) eacdalt alilatl LM,
-Aads gf Co (e
Ot g Ol O ¥ -0
O Ceo (o de Lot
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35- Look at the figure below which show S| Sias Jolaed) JS&t Yo
an important cellular process. Aulindl Falgl Aot Colalaal
First: what is the name of this process? And | ¢\ ;i Loy . 2uteatioin ol Lo 13 ]
what is its importance?

. . (A) sapt Al FelP Lo Bois Lt
Second: Write the label (A) and mention the -

function of label (B) «(B) 5o 2auts
3
3 W INQ)3

v
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36- What is the fate of each of the following
after fertilization in plants.

First : Ovary wall.
Second : Integuments of the ovule.

Crgu cay by Lea JS juma e Y1
Ol B ol ¥ ddes

" O Y

R JF PRI

37- Choose only one question (A) or (B)
and write its scientific term.

A- An embryonic membrane which surrounds
the embryo and has a fluid to protect the
embryo against shocks and dryness

B- The phase in which the spermatids changes
into the sperms.

(@) 91 (1) o1 3l ) i i) -YV
I elall mllaiaelt OIS @3
1ol Lee 3ylie JST

5 g (piIls dasmy sl (1)
00 Ot e Sl e
Olectall Josig calast

Ml led J il A p0 (<)
A3 g0 Olilgus () A giad!

A
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38- How to obtain a double DNA strands

from mRNA strand.

doo 2 (Ao Jgast! (1Sa a8 -YA
.MRNA (4o 79350 DNA

39- What are the results of:

- The anther of the flower is shorter than

the stigma.

40- Choose the right answer only:

- The zygote of plasmodium malaria is

®06

formed in:

patient blood.

Stomach cavity of mosquito.

Salivary glandes of mosquito.

Stomach wall of mosquito.

wjailleig o

1 (ole A plad! ZLEd Lo - Y4
G5 (e LLiadl (6 g olai!
.BJA}J“;S p-u,.w-ﬂ

1o Lea dadd dovomial| Ayl W)yl - ¢
LoSed! agaage)dly am3Y (s

S 6
b ga i sutns igai (D)
A Talt dslaldl skl @
EVITIRN 71 g &)



41- What would happens if: 1130 Sodomy 1300 - € )

The two strands of DNA having the same | ¢«Sbais & DNA 31 Uay i OIS
direction.(parallel) .ol

42- What is the difference between B oSl AE G 3 Al Le- £ Y

Parthenogenesis in honey bees and | .(redls by Juall Jomd (oo S
aphid insect.

43- Choose only one question (A) or (B) @ (20) 9 (1) ot dni i - ¥

and draw labeled diagram only for it. LN A4S o da s s sy

A- Stages of pollen grain germination. LA dm L1 o e (1)

B- Reproduction by sprogony in bread mould | ST e B ity SISEN ()

\
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44- Look at the figure which represents | (e gt L JSid gamal -¢ ¢
pelvic girdel in man and answer the

following SOlua¥ | 8 (el allac
First: What are the labeled parts which form 108 = dusal
the pelvic girdel ? Mention their e Juif ™ MBI Toa e Y o

Second: Mention the name of the bone | Jwaes Sdlacdaallqwlls =i-.¢"3
which articulate with the structure (Y) 0By poe
number.(2).

AR
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45- If you have two parts of DNA as the | sgj> (o Oliakd LI OIS 13l -§0

following. ‘Lea DNA
(b) (a)
/5 ...G-A_A_T-T-C....'3 'S G ASALT PCo 3
'3 . C_T-T-A_-A_G...5 377 TC_T R _ G et
First : determine the recognition sites on @Y et aBlge g :;{37
both parts. by arrows (1) cae 3o (30 US ke plat
Second : what is the effect of restriction Wed™ | alasials () s
enzymes on both parts by drawing L T e
only. 2 58l dadd mu Tl g LA
Sam3Lt dasl pid | e aladt!

Yy
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